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258. For the data set 
 
 200  300  100  400  X 
 
you are given: 
 
(i)    k = 4 
 
(ii) 2s  = 1 
 
(iii)  4r  = 1 
 
(iv) The Nelson-Åalen Estimate ˆ (410)H > 2.15 
 
 
Determine X. 
 
 
(A) 100 
 
(B) 200 
 
(C) 300 
 
(D) 400 
 
(E) 500 
 
 

259. You are given: 
 
(i) A hospital liability policy has experienced the following numbers of claims over a  

10-year period: 
 

10      2      4      0     6      2      4      5      4      2 
 
(ii) Numbers of claims are independent from year to year. 
 
(iii) You use the method of maximum likelihood to fit a Poisson model. 
 
 
Determine the estimated coefficient of variation of the estimator of the Poisson parameter. 
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(A) 0.10 
 
(B) 0.16 
 
(C) 0.22 
 
(D) 0.26 
 
(E) 1.00 
 
 

260. You are given: 
 
(i) Claim sizes follow an exponential distribution with mean � . 
 
(ii) For 80% of the policies, �  = 8. 

 
(iii) For 20% of the policies, 2� � . 
 
A randomly selected policy had one claim in Year 1 of size 5. 
 
 
Calculate the Bayesian expected claim size for this policy in Year 2. 
 
 
(A) Less than 5.8 
 
(B) At least 5.8, but less than 6.2 
 
(C) At least 6.2, but less than 6.6 
 
(D) At least 6.6, but less than 7.0 
 
(E) At least 7.0 
 
 


